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e Please check that this question paper contains 25 printed pages +1 Map.

e Please check that this question paper contains 37 questions.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book
before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.

AT fasm= EME

EEGE] 0
Eﬁmﬁ SOCIAL SCIENCE %”%
Feiita aa : 3 5qu2 SferHaT 37% : 80
Time allowed : 3 hours Maximum Marks : 80
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HTHT=T 3397 :

TG 17597 ®1 €Fgdew TG 3K FTHT GIcid Hiforg :

(i) 3G Fe-99 7 37 F97 & | T 7 ST & |

(i) Y¥7-97 B: GUS] § [q91f5a 8- @us &, @&, T, ", FTT o/

(iii) @UE & — Jo7 &l 1 & 20 FglacT1T THR & J97 & | Jed% J97 1 37% &1 8 |

(iv) @IS W — J97 G&I7 21 T 24 3717 TG-FRIT JHR & T & | IdF 97 2 3] 7
8 | 57 J¥1 &7 3T 40 5] @ 371w 757 forar ST =T |

(v) T@UE T - F¥7 G&IT 25 @ 29 TG-IFTNT JHR & 97 & | I ¥97 3 371 &1 & |
57 Y991 &7 3T 60 Y5g] & 3¢/ 787 7@ ST =iz |

(vi) WU G — Y7 G&I1 30 T 33 FH-FTHIT FHR & 97 & | I3 Fo7 5 371 &1 & |
57 §99] &7 3T 120 V55! & 37ferep 787 @ ST SR |

(vii) TUE T — J97 &I 34 T 36 HG-ITENRa/GT-3TeRT I97 & 575 7 39-397 & |
e Jo7 4 371 FTE |

(viii) UG T — Y97 G&IT 37 HIFIT HIvA-3TERT I97 & 15 & 977 & — 87 (a) 3iazr@
(2 37%) 3R 37(b) — YT (3 37%F) | 59 Jo7 & FT 5 HFH & |

(ix) 35% 3flals, &M § 1% gheanaad Wemeal & 1o/g lel a97 Tl 37ls ek
ol & TIH W TH 37 J97 1597 T & | 57 Fo1 & I dact ghecanea wiemdT &

for@ |
QUg h
(Fgfaemedta we) (20x1=20)
1. 9= 3 wer fer mu E | 3 sfieheE (A) 3R wRW (R) € | g1 el B dfeu
3R T faehed 1 =39 HIRT | 1

SYHUT (A) : o HS HIQRI Sl el o1 b [T IR T8 8d ¢ |
HRU(R)  : TS AN & & ROMLR T &l @ |

ey

(A)  (A) 3R (R) g1 T&t § 3 (R), (A) T T&l = 2 |

B) (A) 3 (R) 31 & &, AfFT (R), (A) H T ==me 787 2 |
(C) (A W& 7, AT (R) Terd 8 |

(D) (A) Td 3, Af (R) 981 2 |
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General Instructions :
Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.
(it)  Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iti) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : Banks are not ready to lend money to certain borrowers.
Reason (R) . Some people do not have collateral.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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2. OYH U oo weed (F gl fefafed & @ fhe omar | 9ma
forepra feard” wemTfara shear B 2 1
(A)  fafmio, srewEar o @
(B) fram, Tareed 3R ufd =aft 3
(C) TS 19, w@reed 3 skt
(D) W Tl 3G, SEfiEhl 3R Ta=R

3. fr=fafga ¥ @ w-u1 o Sodieor & TR 1 gl I Hidl & ? 1
(A) SINR W H gaefi 3/l bl gemT
(B) I S99 T Rl YSH HET

(C) <M < sit= dig i & Thishiol ST
(D) foesht uf=i =t Tiva @ & fou o= seq e

4. = @ we fau mw | iR (A) 3 HNO (R) B | SF1 AT I gfeu

3R TE faered =1 ==F hIfST | 1

37T (A) : ARG H hls Wl Ak B AR W T H GRAN i 6K
T&l T TehdT 7 |

HRU(R)  : WRA W ¥ ol TsT FLhR ITIEhd il & |

foremea

(A) (A 3R (R) gHT & g 3 (R), (A) H1 T&l AT 2 |

B) (A) 3 (R) 31 Tl &, AfkT (R), (A) T T& =umen 757 2 |
(C) (A) @& 8, dfhd (R) Toid ® |

(D) (A) Tod 8, AAfh (R) T8l B |

5. U o gey ¥ faefafga uifeafa o ufew 3 o1 & worrcas yv@ 6
qg<T_ hIfoTU | 1
el 3T o ToTT hriRfied ISl shl F&d ol 0T o gRI QU hidl § | 0T 39
3G o HETIA Gl qT IcdTGH ol THF T YU i H GG hidl g |
qqg
(A) EH W RO I YR §¢ I |
(B) G| <hl HATS §¢ ST |
(C) 3IUIe | HHt A |

(D) Hell™ =01 % g5ash H HH Hhal @ |
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2, On which of the following basis does the United Nations Development

Programme (UNDP) publish the ‘Human Development Report’ ? 1
(A)  Manufacturing, Infrastructure and Health

(B)  Education, Health and Per Capita Income

(C) National Income, Health and Banking

(D)  Gross Domestic Product, Technology and Innovation

3. Which one of the following statements best describes the meaning of
‘Globalization’ ? 1
(A) Removal of tax barriers on trade
(B)  Providing higher standard of living
(C)  Process of rapid integration between countries
(D) Taking special steps to attract foreign companies

4, Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : No individual in India can legally refuse a payment

made in rupees.
Reason (R) : In India the rupee is authorized by the State
Governments.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation
of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

5. Read the following situation regarding credit and identify the positive
impact of credit. 1

Salim obtains credit to meet the working capital needs of production. The
credit helps him to meet the ongoing expenses and complete production
on time.

Impacts:

(A)  The burden of credit will increase on Salim.
(B) Salim’s income will increase.

(C)  The production will decrease.

(D)  Salim may get stuck in a debt trap.
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6. ihad ol Fefalga fosivaret i gfeu ik @&t faemeq =1 =94 FifSw | 1
I. %9ad wd g g
II. S % 908 G

III. =3k hi TTiAT
IV. SgH&I I e
fereRew :

(A) Hada LII19 [T B |
(B) el IL, IIT & IVER & |
(C) haa L II9 IVEHS 2 |
(D) hadd [ IIdIVHS 3 |

7. Tratatea o @ fom & o ufgensti &1 I+l Tda wwg (2018) ® wfafferca

ey Aferes of ? 1
(A) TifEH W
(B) MR (I T gfeft)
(C) T
(D) T

8. frafafea oo o o foraw fggefiar sazen 2 2 1
(A) == (B) dIfeh&Ed™
(C) HIH T (D) %

9. = @ %o feu MU F | F fiped (A) 3 HRU (R) | 1 el I Ul
3R TE faehed 1 =3F HIRT | 1

STHYT (A) : I Alhad TSHITTD Gl o [oHT Tal el Hehdl 3 |

FROU(R) : THatta ufafafe saa qum-em farem-am & afd Samees
B, 2% % uid 78 |

forerea :

(A) (A) GEl g, AR (R) TeTd ¢ |

(B) (A) 7o 7, AIfehT (R) Tl 2 |

(C) (A) 3R (R) gHI TEl & 3R (R), (A) N 98 =TT 2 |

(D) (A) 3R (R) < @&l &, AfRT (R), (A) it wet == 787 2 |
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6. Read the following characteristics of democracy and choose the correct
option. 1
I. Free and fair elections
I1. Equality before law
III. Dignity of a person
IV. Majority rule
Options:

(A)  Only I, II and III are correct.
(B)  Only II, IIT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Onlyl, IT and IV are correct.

7. In which of the following regions was women representation the highest
in their respective National Parliaments (2018) ? 1
(A)  Nordic countries
(B)  America (North and South)

(C)  Europe
(D) Asia
8. Which one of the following countries has a two-party system ? 1
(A) China (B) Pakistan
(C)  United States of America (D) France
9. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : Modern democracy cannot function without political
parties.
Reason (R) : Elected representatives will be accountable only to their
constituencies, not towards the country.
Options:

(A) (A)1is true, but (R) is false.
(B) (A)is false, but (R) is true.
(C) Both (A) and (R) are true and (R) is the correct explanation

of (A).
(D) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).
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10. 1992 H W4 H Higy™ Fsned s ffaiad # 9 forg gwen § wfgensti &

o ameqor Sht seEen Y TS 2 1
(A) < gl
(B) TSg @l
(C) faur ditwg
(D) Y=
11. YR dfgae ¥ afvla Trer’ ffafaa 5 9 fpa g o stdia ot g ? 1
(A) =g g
B) TS G
(C) EHadl F=i
(D) «mhl &= fowy
12. HdT o IR U § faU U qeni okl Ufeq 3T T@l faehed 1 ==F v | 1

[.  9&UTd <hl GHEHT bl A HdT 3 |

II.  faofe o <1 ufshan =61 staeg a2 |
1. fafoaarsti § gmers warfig s g |
IV. & ® Al ot it sl sigran 8 |

fererey .

(A)  had LII9 T 2 |

(B) haet I, III9 IVEHE 2 |

(C) ot I, 1119 IV TR 7 |

(D) wad LI VTS 7 |

13. YRd ® WS o Icqreq 4 fforfaa vt o et (wfaerd ®) o forw siferesaw
¥ =IIq9 Y Tt Tgl faehed i =34 hIfT | 1
(A) UET I, HEWISS, heiiceh, Tifesm
(B) HeH UG¥, HEWISZ, AT, FHAieeh
(C) WERISg, AEd TG¥, hlceh, TSI
(D) WENISE, JANTSM, HEA U, Hlh
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10. In which one of the following institutions in India was a system of
reservation for women made by amending the Constitution in 1992 ? 1

(A) Lok Sabha

(B) Rajya Sabha

(C) Legislative Council
(D) Panchayat

11. ‘Education’ falls under which one of the following lists given in the Indian
Constitution ? 1

(A)  Union List

(B)  State List

(C)  Concurrent List
(D) Residuary Subjects

12. Read the arguments given in the favour of power sharing and choose the

correct option. 1
I. Reduces the likelihood of bias.
I1. Barricades the decision-making process.

III. Accommodates diversities.

IV. Increases the participation of people in power.
Options:

(A) Only]I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only ]I, III and IV are correct.

(D)  Onlyl, II and IV are correct.

13. Choose the correct option for the following States’ share (in percentage) in
the production of ‘manganese’ in India from the highest to the lowest
order. 1
(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha
(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka
(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha
(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka
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14. LY [ 1 e Wy 118 KIS 3k o8l fosmew &1 =9= S | 1

&y I &y I1
(aie]) (77

i WER §eW a. Hags

i.  EUPS b. e

iii. YTEST 9T c. dHa

iv. TS |TR d. wEHd

fererey .

(A)  i-a, ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C)  i-c, ii-d, iii-b, iv-a

(D)  i-c,ii-d, iii-a, iv-b

15. = @ % for M g | A sfirpeH (A) 3R SR (R) & | 21 el i ufew

3R TE faered =1 ==A hIfST | 1

FHIT (A) : Teaem # uftg gl AR *s &3 § 99 HeE Ushd d
HTHIE & |

HRU(R)  : 39 GNI TAHM WGl ohl SfGAl 1 SN Hleh HHGTR
R AN 1 Ahed ST T |

fererey .

(A)  (A) 3 (R) I T &, wfhT (R), (A) T T =t 787 2 |
(B) (A) 3 (R) F1 &l & 3N (R), (A) H T == 2 |

(C) (A) "8 7, dfed (R) Teid 2 |

(D) (A) T 8, WA (R) T&T 8 |
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14. Match Column I with Column II and choose the correct option. 1
Column I Column II
(Dams) (Rivers)
1. Sardar Sarovar a. Sutlej
ii.  Hirakud b. Krishna

Narmada

o

iii. Bhakra Nangal

iv. Nagarjuna Sagar d. Mahanadi
Options:

(A)  i-a, ii-b, iii-c, iv-d
(B)  i-b, ii-a, iii-d, iv-c
(C) i, ii-d, iii-b, iv-a

(D)  i-c,ii-d, iii-a, iv-b

15. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas
successfully resisted deforestation in several areas.

Reason (R) : Through this, community afforestation campaign with

indigenous species was made enormously successful.

Options:

(A) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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Hfdflgd 4 9 fopg &eh o 3Tqeid 3T1dT 2 2 1

(D) =gdeh

Fig: [HAFICIRGd 397 #acl gleearaa qagmfedean & g 397 qear 16 & &7 |

&/
ffcIiad § & Topd &eh ol Teedgil WA o §ehal el 3cdg (ST ) ¥
Tt 8 ? 1
(A)  wrHfHes
B) g
(C) qdreh
(D) =gdeh
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16. Study the following picture. The work done in the picture comes under
which one of the following sectors of the economy ? 1

(A) Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary

Note : The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

Which one of the following sectors has the maximum share in the Gross
Domestic Product (GDP) of India ? 1

(A)  Primary
(B) Secondary
(C) Tertiary

(D) Quaternary
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17. Ty=fafgd 4 9 feaq w1 f6 — “Geu Sver h1 41 g3 9eMAH &7 B, HEH 9L

g 1”7 ? 1
(A) IR W
(B)  WgTeHT TR
(C) SIgH A
(D) gl ot
18. HIUH & Wit ‘Tou Uil o GEAIeh § HEid Hal fashed w1 =¥ hifve | 1

(A)

gHTY 95 98 9 T 88

(B) TR HUATH T STIATHTI T
(C) HI.3R. TE 9 AT J8&
(D) HEHT e o TER 9ed
19. T wam 61 qfd o o &1 foeped 1 =9 HINT | 1
T ant (fies ®<¢) @ 9Ra 9 gfau-gd uften 3R 6 g A
H Ugad o |
(A)  EH g EIE % AT
(B) U< 9 FHE
(C) W 4 g™
(D) Wl d I LTy

20. TAfAREd SeATsTl ol HICHHATIHR FaEdd Hivg R T& foshed o1 ==F

HIT | 1
I. " i Shifd
II. U 1 et W gHe
III. 3t ST TehIehtUl
V. foo sfa |
forepeu -
(A L ILIV,III (B) II,IV,I III
C) ILIIOLI IV (D) L IILIL IV
32/4/3-14 Page 14 of 27

Get More Learning Materials Here : & m @) www.studentbro.in



NN\

17. Who among the following said — “Printing is the ultimate gift of God and
the greatest one.” ? 1
(A) Martin Luther
(B) Mahatma Gandhi
(C)  Johannes Gutenberg
(D) Rashsundari Devi

18. Choose the correct option, related to the founders of the ‘Swaraj Party’
within the Congress. 1
(A)  Subhas Chandra Bose and Jawaharlal Nehru
(B) Acharya Kripalani and Jayaprakash Narayan
(C)  C.R. Das and Motilal Nehru
(D) Mahatma Gandhi and Sardar Patel

19. Choose the correct option to fill in the blank. 1

from India and Southeast Asia travelled through ‘Silk Route’
to other parts of the world.

(A) Gold and silver ornaments
(B)  Clothes and spices
(C)  Grain and pulses

(D) Iron and other metals

20. Arrange the following incidents in chronological order and choose the

correct option. 1
I. French Revolution
II. Napoleon’s invasion of Italy

III.  Unification of Italy
IV. Vienna Peace Treaty

Options:
(A  LIIL1IV,III (B) II,IV, 1 III
C) ILILILIV (D) L IILII IV
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(erf org-swriia weA) (4x2=8)

21. (a) WRG I HECHS FAEAT § Hiag™ h yfier & wlegw 3 fagen 4
i | 2x1=2

STt

(b)  RA hl HETcHh HTEAT H Geiod AT 1 YfHehT 1 ql&ur  fogai
T T | 2x1=2

22. “YUNd H Yo Fol IcTTeA hl M G9EHT & |7 qa Solt o Ty H hed i
ST hIfT | 2

23. “IHEl vl a 9 | T 3R @ 1 E AEST o1 |7 39 HeH 1 fowewo
$||\3Q| 2

24, 1991 Ivetehul o U YR <hl TLHR R I3TT 7T heHl hi SqRSAT hifoy | 2

©us T
(FTg-3wria weA) (5x3=15)
25. “TEI IMET STGTEAT TehlcHeh ATHA SFGEAT H ik 3I0C @ |7 39 hed hl I
FﬁIi%lQ | 3
26. g Halg HfY hl fregl dF fasmwansti &1 ave KT | 3x1=3
27. 9Rd H S v # TSHifae gal shi et 1 oo K | 3

28. (a) U MEoH H Ol GqgRl, &= I7 9t § deg IT-3Ta gl
 HHfgh 1Y 1 HE HH foepfa foram ? 3gTewon dfed Tose Hhifviw | 3

AT

(b)  “HgTe e o fo=ml 3R TOUS 1 SFAYURON % IR H AAGU ol ]
g off |” Iergn Tfgd 39 A hl s hifvry | 3

29. “Ug Tav® TE Th 9 H Wl T 9 T IEU 3N AW @lg ¥k, fSeh
k! Teh 9 Siad & fTU STa9Iehdl 81 Hehdl & |7 38001 Aigd o hl

gfse Hifs | 3
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. (a) Examine the role of the Constitution in the Federal System of
India in two points. 2x1=2
OR

(b)  Examine the role of the Supreme Court in the Federal System of
India in two points. 2x1=2

»

22. “India has great potential of wind power generation.” Explain the

statement in context of wind energy. 2

23. “Until the nineteenth century, poverty and hunger were common in

Europe.” Analyse the statement. 2

24, Explain the steps taken by Indian government for globalisation in 1991. 2
SECTION C

(Short Answer Type Questions) (6x3=15)

25. “Federal form of government is in direct contrast to the Unitary form of

government.” Explain the statement. 3
26. Describe any three features of intensive subsistence farming. 3x1=3
27. Analyse the role of political parties in making laws in India. 3

28. (a) How did people belonging to different communities, regions or
language groups develop a sense of collective belonging in the
National Movement ? Explain with examples. 3

OR

(b)  “Workers had their own understanding of Mahatma Gandhi and
the notion of ‘Swaraj’.” Explain the statement with examples. 3

29. “Money in your pocket cannot buy all the goods and services that you
may need to live well.” Support the statement with example. 3
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/3-14

Get More Learning Materials Here : & m @) www.studentbro.in

Qug "
(e -swia wea) (4x5=20)

“hreTet Tsg 1 TE W IR A& of foh 98 JUW o AN ol R
& d Gtk ST |7 HIEE hifd & I9E o Ged § wed i g

$||\3Q | 5
ST

“gemafies a9 O ANfeRM A wifdert gt 1 g fea o |7 %o

1 ST hIFTT | 5

“rEmfed &3 H YiHeRl ol TV IR HERAT hl ITEIhdl & |

3SR AR 39 hd hl TE HIfT | 5
HAAT

“fasit amres b wifafarferat o1 e ey SIS T gia1 2 |7 3ereen afd

39 H hl WG HINT | 5

“safts <kl AT 3N STET & A9 B Alehdiies odae foret ot 1=
A YUt & 1T 3T 2 | 3<En afgd 39 I shl ¥R shifau |

5
AT
“Arerdd k1 Tk @ibFd g for 39hl Jig-w@ 3R e st @en g
Bl |” 3eT8n 9fgd sh¥H <hl suredn hifau | 5
<1 < T faepra o fafmior e 6t gt @1 v il | 5
AT
TS 9 o i ygyor w1 FRifE s % fau 3am mu fet ate
Sl 1 JUH HITTY | 5
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/4/3-14

SECTION D
(Long Answer Type Questions) (4x5=20)

“The mission and the destiny of the French nation was to liberate
the peoples of Europe.” Support the statement in context of impact

of French revolution. 5
OR

“In the administrative field Napoleon had incorporated

revolutionary principles.” Explain the statement. 5

“There is a need for protection and support of the workers in the

unorganised sector.” Examine the statement with examples. 5
OR

“Activities in the private sector are guided by the motive to earn

profits.” Examine the statement with examples. 5

“Democracy stands ahead of any other form of government in
promoting dignity and freedom of the individual.” Explain the

statement with examples. 5
OR

“A distinctive feature of democracy is that its inspection and
examination never gets over.” Explain the statement with

examples. 5

Describe the role of manufacturing industries in the economic
development of a country. 5

OR

Describe any five steps taken to control industrial pollution of

fresh water. 5
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e §
(Sha-sreia /ard-snanfia a9 (3xd=12)

34. Teu U Eq 1 ufeu IR 3ues 9 feu U ywAt & 3w S -
TEHT Giufaat @ /o

Sepl o 1A UTHIUT & T TEd ROT Bl Ush 37 Hid Tghll GHfadl 8 |
TEhRI AT o TEEA 39 FETEAT hl HS &A1 H AN o T THT A & |
3 TR h el wiufqal va 7, S8 — fopamil, sl wa st qeigl
SCATIG <hl TEhRI AHITAT | P Fghil THI FMYL o ToIGh Teh T H A
HA 2 | 39k 2300 TRUM e B | IB U TSE H OSHT YT il
g | 39 M1 ¢S Sl ROMYR AFd U, 39 HghM GHfd 4 S § T8 RO I
fRam 3 | 39 ISl 1 SEIHTA TGEAT I Tl oF o AT TRAT STAT 8 | I8 RO
M o STG ol o1 GHU QR & TohT ST Gehell @ |

huh R AU Y ITHT G, @l qAT HY AR HH, TSl
Tehed, T S 3T 3= fafie YR o @i o Toaiu ko1 Gaar ot & |

(34.1) ‘Ggprt "’ Swor = forg @iq 1 378 § 2 1
(34.2) Trior faen@ § Tgni) Gfaal o I il =aren iy | 1
(34.3) TII-FETIAT THgI <l ISl o Fheal gl @Il I 3gQ HIT | 2x1=2

35. fou ww &l =i ufey 31 37eh A= QU 7T JeAT o IR AT

1857 % Tagig o &1g Y| sl Taadl < Ui &A1 96 T | g SUAT A
T I9 1 Hg 9 B hI [ | SA-SAT WIHE THER-TH TCAg H qHH
T gEr Bd N, - ey @R § we fREe % yee W sgE ad
B @ | TERE Y8 HF % a9 W 1878 H SHIReR YH UEe AT L fam
T | 39H TR Sl WS I9 H BY1 e 3T HUIGEhI ol HEL Hid 1 A9
T U T | 19 ¥ WehR 4 TIfve ween o |4 atel wNTs 1@eRl 1 fafia
ToR T&T I&® L & | 3R TRl e w1 amft R fean Sar o af 37@er @i
qEcl el & St off, S TR St i g 8% A1 TSR hl Wed fohl
ST FehdT AT 3T BURE i A SH &t 1 Fhd! of |

(35.1) ‘SR & Ve’ fopd fom oX ammenfia o 2 1
(35.2) 1857 o Tagig o o1 Y& hl Taaaal < A TS o &A1 F dgd
T ? T9SE HINT | 1
(35.3) ‘THIRITR I8 UFe’ ARL B oh fohral Gl YHTET sh SATEAT HITT | 2x1=2
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SECTION E
(Case-Based/Source-Based Questions) (3x4=12)
34. Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives and industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has
2300 farmers as members. It accepts deposits from its members. With
these deposits as collateral, the Cooperative has obtained a large loan
from the bank. These funds are used to provide loans to members. Once
these loans are repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(34.1) ‘Cooperative society’ is an example of which source of ‘credit’ ? 1

(34.2) Explain the contribution of Cooperative Societies in rural
development. 1

(34.3) Mention any two sources of capital for Self-Help Groups. 2x1=2

35. Read the given source and answer the questions that follow :

After the Revolt of 1857, the attitude to freedom of the press changed.
Enraged Englishmen demanded a clamp down on the ‘native’ press. As
vernacular newspapers became assertively nationalist, the colonial
government began debating measures of stringent control. In 1878, the
Vernacular Press Act was passed, modelled on the Irish Press Laws. It
provided the government with extensive rights to censor reports and
editorials in the vernacular press. From now on the government kept
regular track of the vernacular newspapers published in different
provinces. When a report was judged as seditious, the newspaper was
warned, and if the warning was ignored, the press was liable to be seized
and the printing machinery confiscated.

(35.1) On which rule was the ‘Vernacular Press Act’ based ? 1
(35.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857 ? Explain. 1

(35.3) Explain any two impacts of passing the ‘Vernacular Press Act.” 2x1=2

32/4/3-14 Page 21 of 27 P.T.O.
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36. fou 7w EIa =i ufeu IR 37k = ST TT THT o IR ST

FaTEl FT G ;. qEEA fhdl Wt W o o™ H HEgqul qfieRt v
3 | W HEEEl T foeehg ST 3T SATG-IUANT o BT g HHTSTh-T1h
3R JATSRONT HEE Ul B Eohll & | 39 IHEART ¥ §=d % (e fafie T
T HHTGA] T T AGRTD 2 | YA W g HIYH] 1 W0 §gd H A
3R Tordehl o foQ forar =61 fawr @1 8 | 3qretone, it 3 JeneHt o |
T 3T Tl 37 S1el H Sh hl & — “FHR U & AR I AEwIhal Ifd
%qud TS 7, cdl%%&ﬁ%m%rﬁ&gm%mkdsf |319ﬁ?r€ﬂﬁtrr{=rﬁ2
T % [T 98 &, dfehd 9 9 o T 781 |7 Ik FgER fovg 'R W
TG B oh ToIC ATer= 3R Tarell safh qem Mg Jeifiehl i SIuoeH
ygfd R 8 | 9 AT 3cared o faeg o o 30 &&H W 3 g

TSR gRT 3cUTE o YR o |

(36.1) ‘GETEE MA@l 9T i | 1
(36.2) THTEAT o TILIUT shi TETIHAT hl TIC HIfT | 1
(363)Trr%‘|%|'1ﬁa?ﬁwﬁ TR I ﬁwlmﬁwﬁ%ma@

fa

$S 8, TIichd TohEl oh TATCTd hl TIME o 1T T ? Tohral &1 IV I
fargetwor <hifs | 2x1=2

CLC]
(wraters Stvrer-emenfia uea) (2+3=5)

37. (a) WRA 3 U MU TSHIdH W@I-AMRT (I8 27 W), H & TAFI I ‘A’ 3R
‘B o ®Y H 3fhd foram mn 3 | Fafafga Smeeit hi ggmar 9 3=
qEaT-U 37X 3 T3 M Ik gHIq Gl 78 W@rsn w® fafgu

A. 98 TIE & TSt T i H @dl v 9 fReEE % foiw

qeaTg foha o | 1
B. 98 ¥JM J@l MY 7 THh hid qreT o7 | 1

(b) WRA & 3H UoHifdes WarAmrs |, efdafed @ @ fedl @7 &t
ST Toml | guIisy 31 3eh 41 R - 3x1=3

(i) T —dd &4

(i) dd — JHE@ HIIAl @H

(i) T — THIY Bl GIF

(iv) TR — T@ d9g qod
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36. Read the given source and answer the questions that follow :

Conservation of Resources : Resources are vital for any developmental
activity. But irrational consumption and over-utilisation of resources may
lead to socio-economic and environmental problems. To overcome these
problems, resource conservation at various levels is important. This had
been the main concern of the leaders and thinkers in the past. For
example, Gandhiji was very apt in voicing his concern about resource
conservation in these words: “There is enough for everybody’s need and
not for any body’s greed.” He placed the greedy and selfish individuals
and exploitative nature of modern technology as the root cause for
resource depletion at the global level. He was against mass production
and wanted to replace it with the production by the masses.

(36.1) Define the term ‘Resource Planning’. 1
(36.2) Explain the need for conservation of resources. 1

(36.3) Why did Gandhiji say — “There is enough for everybody’s need and

not for any body’s greed ?” Analyse any two reasons. 2x1=2
SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where Gandhiji started Satyagraha for indigo
peasants. 1

B. The place where Gandhiji broke the Salt Law. 1

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : Ix1=3

(i) Naharkatiya — Oil field
(ii))  Talcher — Major Coal Mines
(111) Narora — Atomic Power Plant

(iv)  Tuticorin — Major Sea Port
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Fig: [ElRgd Jo7 #ac gleeanaa gagmnaar & g 397 a9 37 # &&H |

g/
fa=g? ier o1 & I 7T | ox1=5
(37.1) 39 ¥AE k1 A0 foifgu Sgf wiefist 9 i h @dl e 9 forar

T ‘T’ fomam o |

(37.2) 3 TIH o1 A1 ARG gl TSt 5 T9eh S drer o1 |
(37.3) TETHieA a1 & Tohm U= 4 fad B 2

(37.4) 39 USY 1 W fARau I8l der=r TE@ ST hHl @ 2a g |
(37.5) 38 TSI &1 1 faRaw srgf T Aiysh el g9 fedra 7 |
(37.6) TCToRIT TG IoH Tohd TS H Teq g 2
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37.

Attempt any five questions. 5x1=5

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo
peasants.

(37.2) Name the place where Gandhiji broke the Salt Law.

(37.3) In which state is Naharkatia oil field located ?

(37.4) Name the state where Talcher major coal mines are located.
(37.5) Name the state where Narora Nuclear Power Plant is located.

(37.6) In which state is Tuticorin sea port located ?
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)

Secondary School Examination March - 2024

SUBJECT NAME: SOCIAL SCIENCE SUBJECT CODE 087 PAPER CODE-32/4/3
General Instructions: -

1. | You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is requested
that before starting evaluation, you must read and understand the spot evaluation guidelines carefully.
2. | “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future of
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and
printing in News Paper/Website etc may invite action under various rules of the Board and
IPC.”

3. | Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness
otherwise and due marks be awarded to them. In class-X, while evaluating two competency-
based questions, please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, due marks should be awarded.
4. | The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

5. | The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

6. | Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.

Evaluators will not put right (v')while evaluating which gives an impression that answer is correct and
no marks are awarded. This is most common mistake which evaluators are committing.

7. | If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

8. | If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

9. | If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10. | No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11. | A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12. | Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects
(Details are given in Spot Guidelines).

13. | Ensure that you do not make the following common types of errors committed by the Examiner in the
past:- Giving more marks for an answer than assigned to it.
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e Wrong totaling of marks awarded on an answer.

e  Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14. | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0)Marks.

15. | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions
be followed meticulously and judiciously.

16. | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17. | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18. | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each
answer as given in the Marking Scheme.
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Marking Scheme
Class X -Social Science (087)
SET-32/4/3
SET -3 MM-80
Q. Values Points Page Marks
No No
Section A 20X1=
Multiple Choice Question 20)

1 (A) Both (A) and (R) are true and (R) is the correct explanation of (A) 42 E 1
2 (B) Education, Health and Per Capita Income 13E 1
3 (C) Process of rapid integration between countries 62 E 1
4 (O) (A) is true but (R) is false 40 E 1
5 (B) Salim’s income will increase 42-44E | 1
6 (A) Only L, IT and III are correct 14 P 1
7 (A) Nordic countries 4P 1
8 (C) United States of America 51PpP 1
9 (C) Both (A) and (R) are true and (R) is the correct explanation of (A) 48-49P | 1
10 (D) Panchayat 24 P 1
11 (C) Concurrent List 16-17P | 1
12 (C) Only L, IIT and IV are correct 8-9P 1
13 (B) Madhya Pradesh, Maharashtra, Odisha, Karnataka 53G 1
14 (D) i-c, ii-d, iii-a, iv-b 24 G 1
15 (B) Both (A) and (R) are true and (R) is the correct explanation of (A) 16 G 1
16 (C) Tertiary 20E 1

For Visually Impaired Candidates Question

(C) Tertiary 20E 1
17 (A) Martin Luther 112 H 1
18 (O) C. R. Das and Motilal Nehru 38H 1
19 (B) Clothes and spices 54 H 1
20 A LILIV, I 8H 1
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Section B 4x2=
Very Short Answer Type Questions 8)

21 (a) Examine the role of the Constitution in the Federal System of India in 15P 2X1=2
two points.

(1)  The jurisdictions of the respective tiers of government are specified in the

Constitution.

(i)  The existence and authority of each tier of government is constitutionally
guaranteed.

(i11))  Constitution provides the rules for coordination between Centre and
States.

(iv)  Any other relevant point.
(Any two points to be examined.)

OR

(b) Examine the role of the Supreme Court in the Federal System of India in
two points. 17P 2X1=2

(1)  The judiciary plays an important role in overseeing the implementation of
constitutional provisions and procedures.
(1))  In case of any dispute about the division of powers, the high court and the
Supreme Court make a decision.
(i) It acts as the interpreter of the Constitution.
(iv)  Any other relevant point.
(Any two points to be examined.)

22 “India has great potential of wind power generation.” Explain the statement | 54 G 2X1=2
in context of wind energy.

(i)  The largest wind farm cluster is located in Tamil Nadu, from Nagarcoil to
Madurai.
(i1)) Andhra Pradesh, Karnataka, Gujarat, Kerala, Maharashtra and
Lakshadweep have important wind farms.
(i)  Nagarcoil and Chesilmere are well known for effective use of wind energy
in the country.
(iv)  Any other relevant point.

(Any two points to be analysed.)

23 “Until the nineteenth century, poverty and hunger were common in Europe”. | 56 H 2X1=2
Analyse the statement.

(i)  Cities were crowded due to overpopulation.
(1))  Shortage of food grains.
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(iii))  Deadly diseases were widespread.
(iv)  Religious issues were common.
(v)  Any other relevant point.

(Any two points to be analysed.)

24 Explain the steps taken by Indian government for globalization in 1991. 64 E 2X1=2

(i) Removal of trade barriers.

(i1))  Foreign investments are promoted.
(iii))  Foreign trade is promoted.
(iv)  Any other relevant points.

(Any two points to be explained.)

Section C (5X3=
Short Answer Type Questions 15)
25 “Federal form of government is in direct contrast to the Unitary form of | 14-16 P | 3X1=3
Government”. Explain the statement.

(1)  Under the unitary system, either there is only one level of government or

the sub-units are subordinate to the central government.

(i1))  The central government can pass on orders to the provincial or the local
government.

(i) But in a federal system, the central government cannot order the state
government to do something.

(iv)  State government has powers of its own for which it is not answerable to
the central government.

(v)  Both these governments are separately answerable to the people.

(vi)  Any other relevant point.

(Any three points to be explained.)

26 Describe any three features of intensive subsistence farming. 31G 3X1=3

(1)  This type of farming is practised in areas of high population pressure on
land.
(i) It is labour intensive farming.
(i)  High doses of biochemical inputs and irrigation are used for obtaining
higher production.
(iv)  Pulses and food grains are the main crops growing in this type of farming.
(v)  Any other relevant point.

(Any three points to be described.)
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27 Analyse the role of political parties in making laws in India. 49 P 3X1=3

(i) A party reduces a vast multitude of opinions into a few basic positions
which it supports.
(i) A government is expected to base its policies on the line taken by the
ruling party.
(ii1))  Formally laws are debated and passes in the legislature.
(iv)  Most of the members belong to one or another party.
(v)  Any other relevant point.
(Any three points to be analysed.)

28 (a) How did people belonging to different communities, regions or language | 46-47 3X1=3
groups develop a sense of collective belonging in the National Movement? | H
Explain with examples.

(i) Language that promoted nationalism.

(i1))  Use of allegories (images).

(i11))  Creation of hymns in the praise of nation.

(iv)  Preparation of national flag.

(v)  Exploration and preservation of common folklore.

(vi)  Reinterpretation of history.
(vii)  Connecting the idea of nation with motherland and fatherland.
viil)  Emphasising the notion of united community.

(ix)  Glorification of nation.

(x)  Any other relevant point.

(Any three points to be explained.)

Note: Nationalist movement of any country may be considered for
explanation. Example- Indian folklore, Anandmath etc....

OR

(b) “Workers had their own understanding of Mahatma Gandhi and the

notion of ‘Swaraj’.” Explain the statement with examples.
36 H 3X1=3

(i)  For plantation workers in Assam freedom meant the right to move freely
in and out of the confined space in which they were enclosed.
(i) It meant retaining a link with the village from which they had come.
(ii1))  When they heard of the Non-Cooperation Movement, thousands of
workers defied the authorities.
(iv)  They believed that Gandhi Raj was coming and everyone would be given
land in their own village.
(v)  Workers defied ‘Inland Immigration Act’.
(vi)  Any other relevant point.
(Any three points to be explained.)
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29 “Money in your pocket cannot buy all the goods and services that you may | 11 E 3X1=3
need to live well.” Support the statement with examples.

(i)  Money cannot buy a pollution free environment.
(i)  Money cannot ensure that you get unadulterated medicines.
(iii))  Money may not also be able to protect you from infectious diseases, unless
the whole of community takes preventive steps.
(iv)  Money cannot buy happiness and peace.
(v)  Any other relevant point.

(Any three examples to be explained.)

Section D 4xXs=
Long Answer Type Questions 20)
30 (a) “The mission and the destiny of the French nation was to liberate the SH 5X1=5
peoples of Europe.” Support the statement in context of impact of French

revolution.

(i)  When the news of the events in France reached the different cities of
Europe, students and other members of educated middle classes begin
setting up Jacobin Club.

(1))  Their activities and campaigns prepared the way for the French armies.

(ii1))  The French armies moved into Holland, Belgium, Switzerland and much of
Italy in the 1790s.
(iv)  With the outbreak of the Revolutionary War, the French army carried the
idea of nationalism abroad.
(v)  Within the wide swathe of territory that came under his control, Napoleon
set about introducing many reforms that he had already introduced in
France.
(vi)  Simplification of administrative system.
(vii)  Abolishion of feudal system.
viil)  Any other relevant point.

(Any five points to be explained.)

OR

(b) “In the administrative field Napoleon had incorporated revolutionary
principles.” Explain the statement. 6 H 5X1=5

(1)  Napoleon set about introducing many of the reforms that he had already
introduced in France.
(i1))  He made the whole system more rational and efficient.
(i11))  Civil code of 1804, usually known as the Napoleonic Code, did away with
all privileges based on birth.
(iv)  The code was exported to the regions under French control.
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(v)  Napoleon simplified administrative divisions.
(vi)  He abolished the feudal system and freed peasants from serfdom manorial
dues.
(vil)  Any other relevant point.
(Any five points to be explained.)

31 (a) “There is a need for protection and support of the workers in the | 32 E 5X1=5
unorganised sector.” Examine the statement with examples.

(1)  There are rules and regulations but unorganized sectors do not follows these
in true spirit.
(i1))  Jobs are low paid.
(i11))  Jobs are not regular.
(iv)  There is no provision for overtime.
(v)  There is no provision for paid leaves and leave due to sickness.
(vi)  Employment is not secure.
(vii)  Ensuring the protection of workers in this sector is a matter of economic
and social justification and for inclusive development.
viii))  Any other relevant point.

(Any five points to be examined.)

OR

(b) “Activities in private sector are guided by motive to earn profits”. Examine
the statement with examples.
33-34 E | 5X1=5
(i)  Ownership of assets and delivery of services are in the hands of private
individuals.
(i1))  They charge money for the services.
(i11))  The facilities are based on earning and for profit making.
(iv)  Activities are based on market approach and analysis.
(v)  Even for primary facilities like health, education etc they charge heavy
amount.
(vi)  They seek competitive advantage.
(vii)  There are several things needed by the society as whole, which the private
sector will not provide at a reasonable cost.
viii))  Any other relevant point.

(Any five points to be examined.)

32 (a) “Democracy stands ahead of any other form of government in promoting | 71 P 5x1=5
dignity and freedom of the individual.” Explain the statement with examples.

(1)  Every individual wants to receive respect from fellow beings.

(i1))  The passion for respect and freedom are the basis of democracy.
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(iii))  Democracy promotes dignity of individual.

(iv)  Accommodation of different opinions.

(v) It gives equal status and opportunities to disadvantaged ones.

(vi)  Rights are given to individuals.
(vii) It transforms people from the status of citizens from subjects.
viii) It gives legal and moral force to individuals to obtain freedom and dignity.
(ix)  Any other relevant point.

(Any five points to be analyzed.)

OR

(b) “A distinctive feature of democracy is that its inspection and examination
never gets over.” Explain the statement with examples. 72 P 5x1=5

(i)  As democracy passes one test, it produces another test as people get some
benefits of democracy.
(i1))  They ask for more and want to make democracy even better.
(i11))  When people are asked about the way democracy functions, they will
always come up with more expectations.
(iv)  The fact that people are complaining is itself a testimony to the success of
democracy.
(v)  Ittransforms the individuals from the status of the subjects to that of citizen.
(vi)  Democracy tried to accommodates diverse opinion.
(vil) A public expression of dissatisfaction with democracy shows the success of
the democratic process.
viii))  Any other relevant point.

(Any five points to be analyzed.)

33 (a) Describe the role of manufacturing industries in the economic development | 66 G 5X1=5
of a country.

(1)  Over the last two decades, GDP of the country has been improved due to
the manufacturing sector.
(i1))  Helped in the modernization of agriculture.
(iii))  Helped in the decline of unemployment and poverty.
(iv)  Helped in bridging down the regional disparity.
(v)  Helped in the expansion of trade and commerce.
(vi)  Helped in raising foreign exchange.
(vil)  Any other relevant point.

(Any five points to be described.)

OR
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(b) Describe any five steps taken to save fresh water from industrial
pollution. 78 G 5X1=5

(i)  Minimising the use of water for processing by reusing and recycling it in
two or more successive stages.
(1))  Harvesting of rainwater to meet water requirements.
(ii1))  Treating hot water and effluents before releasing them in rivers and ponds.
Treatment of industrial effluents can be done in three phases-
(iv)  Primary treatment by mechanical means. This involves screening, grinding,
flocculation and sedimentation.
(v)  Secondary treatment by biological process.
(vi)  Tertiary treatment by biological, chemical and physical processes.
(vil)  This involves recycling of wastewater.
viii))  Providing green belts for nurturing ecological balances.
(ix)  Any other relevant point.
(Any five points to be described.)

Section E (3X4=
(Case-Based/ Source Based Questions) 12)
34 Read the given source carefully and answer the questions that follow: 1+1+2=
4

Loan from Cooperatives

47 E
Besides banks, the other major source of cheap credit in rural areas are the
cooperative societies or cooperatives Members of a cooperative pool, their
resources for cooperation in certain areas There are several types of
cooperatives possible, such as farmers cooperatives, weavers cooperatives and
industrial workers cooperatives, etc. Krishna Cooperatives functions in a
village not very far away from Sonpur. It has 2300 farmers as members. It
accepts deposits from its members. With these deposits as collateral, the
cooperative has obtained a large loan from the bank. These funds are used to
provide loans to members. Once these loans are repaid, another round of
lending can take place. Krishna cooperative provides loans for the purchase
of agriculture implements, loans for cultivation and agricultural trade, fishery
loans, loans for construction of houses and for a variety of other expenses.

(34.1) ‘Cooperative society’ is an example of which source of credit? (1)
- Formal source of credit.

(34.2) Explain the contribution of Cooperative Societies in rural

development. 1)
- Meets the requirements of rural people like purchase of agriculture
implements, loans for cultivation and agricultural trade, etc.

(34.3) Mention any two sources of capital for Self-Help Groups. (2X1=2)
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(i)  Contribution of members
(i1))  Loans from banks,
(ii1))  Interest on loans given by Self Help Groups
(iv)  Any other relevant point.
(Any two points to be mentioned.)

35 Read the given source carefully and answer the questions that follow: 1+1+2=

After the revolt of 1857, the attitude to freedom of the press changed. Enraged
Englishmen demanded a clamp down on the ‘native’ press. As vernacular
newspapers became assertively nationalists, the colonial government began
debating measures to stringent control. In 1878, the Vernacular Press Act was
passed, modelled on the Irish Press Laws. It provided the government with
extensive rights to censor reports and editorials in the vernacular press. From
now on, the government kept regular track of the vernacular newspapers
published in different provinces. When a report was judged as seditious, the
newspaper was warned, and if the warning was ignored, the press was liable
to be seized and the printing machinery confiscated.

127H

(35.1) On which rule was the ‘Vernacular Press Act’ based? 1
- Irish press law

(35.2) Why did the attitude of the British change towards the freedom of
press after the Revolt of 1857? Explain. 1)
- Because vernacular newspapers became assertively nationalists.

(35.3) Explain any two impacts of passing the ‘Vernacular Press Act.’
(2X1=2)
(i) It provided the government with extensive rights to censor reports.
(i1))  The government kept regular track of the vernacular newspapers
published in different provinces.
(iii))  Any other relevant point.
(Any two points to be explained.)

36 Read the given source carefully and answer the questions that follow: 1+1+2=

Conservation of Resources

Resources are vital for any developmental activity. But irrational |3 G
consumption and over-utilization of resources may lead to socio-economic and
environmental problems. To overcome these problems, resource
conservations at various levels is important. This had been the main concern
of the leaders and thinkers in the past. For example Gandhiji was very apt in
voicing his concern about resource conservation in these words: “There is
enough for everybody’s need, and not for anybody’s greed.” He plays the
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greedy and selfish individuals and exploitative nature of modern technology
as the root cause for the resource depletion at the global level. He was against
mass production and wanted to replace it with the production by the masses.

(36.1) Define the term ‘Resource Planning’. a1
- Resource planning is a complex process which involves identification
and inventory of resources across the regions of the country.

(36.2) Explain the need for conservation of resources. 1)
- Irrational consumption and over utilisation of resources may lead to socio
economic and environmental problems.

(36.3) Why did Gandhiji say — “There is enough for everybody’s need and
not for any body’s greed?” Analyse any two reasons (2X1=2)

(1)  He placed the greedy and selfish individuals and exploitative nature of
modern technology as the root cause for resource depletion.
(i)  He was against mass production and wanted to replace it with the
production by the masses.
(iii))  Any other relevant point.

(Any two points to be mentioned.)

Section F (2+3=
Map Based Questions 5)
37 (a) Two places ‘A’ and ‘B’ have been marked on the given political outline

map of India. Identify them with the help of the following information and
write their correct names on the lines drawn near them:

A. The place where Gandhiji started Satyagraha for indigo peasants. (D)
B. The place where Gandhiji broke the Salt Law. (1)

(Please see the attached map.)

(b) On the same political outline map of India, locate and label any three of
the following with suitable symbols: 3X1=3)

(1)  Nabharkatia- oil field

(ii))  Talchar- Major Coal Mines
(i11))  Narora- Atomic Power Plant
(iv)  Tuticorin- Major Sea Port

(Please see the attached map.)
Questions For Visually Impaired Candidates only in lieu of Q. No. 37 5x1=5
(Attempt any Five)
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(37.1) Name the place where Gandhiji started Satyagrah for indigo peasants.
- Champaran

(37.2) Name the place where Gandhiji broke the Salt law.
- Dandi

(37.3) In which state is Naharkatia oilfield located?
- Assam

(37.4) Name the state where Talcher major coal mines are located.
- Odisha

(37.5) Name the state where Narora Nuclear Power Plant is located.
— Uttar Pradesh

(37.6) In which state is Tuticorin sea port located?
— Tamil Nadu

Get More Learning Materials Here : & m @) www.studentbro.in



Get More Learning Materials Here: 5 m @& www.studentbro.in



	Social Science - Paper Code 32-4-3.pdf (p.1-27)
	32-4-3 E.pdf (p.28-41)

